

#### Proposal #009295951

**Prepared For** 

### **Boone Co School District**

Attention:
Tina Withorn
tina.withorn@boone.kyschools.us

For the Purchase of:

### Into Literature 9-11 WR Version 2

Prepared By Jim Absten jim.absten@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: http://www.hmhco.com/common/terms-conditions

Coupon Code: PRODPB10

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Tina Withorn tina.withorn@boone.kyschools.us

**HMH Confidential and Proprietary** 

Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

#### **Proposal for Boone Co School District**

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	rade 9 igital Licenses					
1857728 9780358	License Digital High School 3 Year	\$106.65	1,551	\$165,414.15	\$16,549.17	\$148,864.98
Includes Into 12	: o Literature Digital Student Resources 3 Year Grades 9	-				
Wr Imp	itable ELA Digital Student Resources 3 Year Grades 9- plementation Success Student Digital Licenses	12 <b>\$148,864.9</b> 6	8			
Teacher D	Pigital Licenses					
1857729 9780358 Includes	License Digital High School 3 Year :	\$839.70	21	\$17,633.70	\$17,633.70	
12	Literature Digital Teacher Resources 3 Year Grades 9					
Acc	table ELA Digital Teacher Resources 3 Year Grades 9- cess to Teacher's Corner Feacher Digital Licenses	12 <b>\$0.00</b>				
A la Carte	Items Available for Purchase					
Teacher M	laterials					
1791538 9780358 Student M		\$197.34	21	\$4,144.14	\$414.33	\$3,729.81
1805885 9780358	538530 Into Literature Softcover Student Edition 3 Young	ear \$16.50	1,551	\$25,591.50	\$2,559.15	\$23,032.35
Total for A	A la Carte Items Available for Purchase	\$26,762.16	5			
Total for Grade	9	\$175,627.1	4			
	rade 10 igital Licenses					
1857728 9780358	880172 Into Literature Connected Solutions Student License Digital High School 3 Year	\$106.65	1,674	\$178,532.10	\$17,844.84	\$160,687.26
	: o Literature Digital Student Resources 3 Year Grades 9	-				
	itable ELA Digital Student Resources 3 Year Grades 9-	12				
Total for S	plementation Success Student Digital Licenses	\$160,687.2	6			
Teacher D	Pigital Licenses					
1857729 9780358 Includes	License Digital High School 3 Year	\$839.70	23	\$19,313.10	\$19,313.10	
	b Literature Digital Teacher Resources 3 Year Grades 9	-				
Wri Acc	table ELA Digital Teacher Resources 3 Year Grades 9- cess to Teacher's Corner					
Total for T	Teacher Digital Licenses	\$0.00				
	Items Available for Purchase					
Teacher M	laterials					
1791539 9780358 Student M		\$197.34	23	\$4,538.82	\$453.79	\$4,085.03
Otauciit iii	laterials					
1805886 9780358		ear \$16.50	1,674	\$27,621.00	\$2,762.10	\$24,858.90

**Total for Grade 10** \$189,631.19

<u>Grade 11</u> Student Digital Licenses

Coupon Code: PRODPB10

Attention: Tina Withorn tina.withorn@boone.kyschools.us

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Expiration Date: 5/8/2025

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

**HMH Confidential and Proprietary** 

Proposal for	Expiration Date: 5/8/2025
<b>Boone Co School District</b>	

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
1857728 9780358880172	Into Literature Connected Solutions Student License Digital High School 3 Year	\$106.65	1,533	\$163,494.45	\$16,357.11	\$147,137.34
Includes:						
Into Literatu 12	re Digital Student Resources 3 Year Grades 9-					
	A Digital Student Resources 3 Year Grades 9-12 tion Success					
Total for Student Digital Licenses		\$147,137.34				
Teacher Digital L	icenses					
1857729 9780358880189	Into Literature Connected Solutions Teacher License Digital High School 3 Year	\$839.70	21	\$17,633.70	\$17,633.70	
Includes: Into Literatu 12	re Digital Teacher Resources 3 Year Grades 9-					
Writable ELA	A Digital Teacher Resources 3 Year Grades 9-12 eacher's Corner					
Total for Teacher		\$0.00				
A la Carte Items	Available for Purchase					
Teacher Materials	s					
1791540 9780358416531 Student Materials	Into Literature Teacher Edition Grade 11	\$197.34	21	\$4,144.14	\$414.33	\$3,729.81
1805857 9780358538257	Into Literature Softcover Student Edition Set Grade 11	\$6.50	1,533	\$9,964.50	\$996.45	\$8,968.05
Total for A la Car	te Items Available for Purchase	\$12,697.86				
Total for Grade 11		\$159,835.20				
Professi	onal Services - Into Literature 9-12 WR Success Plan					
1857555 9780358878377	Into Literature Connected Solution WR Getting Started In-Person (Two, 3 HR Sessions) 6-	\$4,200.00	2	\$8,400.00	\$8,400.00	
1872622 9780358966272	Hour Grades 9-12 Connected Solutions Into Literature Leader Success Live Online 1-Hour Grades 9-12	\$400.00	1	\$400.00	\$400.00	
design and resou develop a plan to successful start, l student learning p	our live online session, leaders learn about the rces of their HMH program. To help leaders guide implementation and set up teachers for a HMH Coaches share tools and best teaching and practices to observe in the classroom. Leaders Teacher Success Pathways and resources on ing support.					
Total for Implementation Success Plan		\$0.00				
Total for Professiona	I Services - Into Literature 9-12 WR	\$0.00				

Subtotal Purchase Amount:

Shipping & Handling:
Total Cost of Proposal (PO Amount): \$16,418.65 \$541,512.18

\*\*Please add proper sales tax to your order\*\*

\$525,093.53

Coupon Code: PRODPB10

Attention: Tina Withorn tina.withorn@boone.kyschools.us

Send Orders to: orders@hmhco.com FAX: 800-269-5232

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

**HMH Confidential and Proprietary** 

Page 3 of 4

## Proposal for Boone Co School District

# Total Cost of Proposal (PO Amount): \$541,512.18

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, high-quality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
  - o Point of Contact for Print materials
  - o Point of Contact for Digital materials
  - o Point of Contact for Scheduling Professional Development
  - o Email address for Accounts Payable contact
- · Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to: Sold to:

Boone County School District

8330 US Highway 42

Florence, KY 41042-9286

Boone County School District

8330 US Highway 42

Florence, KY 41042-9286

- Please provide funding start and end dates.
- · Please note HMH bills products and services as they are fulfilled. You may receive multiple invoices for your order.
- · HMH reserves the right to transmit documents electronically.
- · Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- · Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 3/24/2025 Proposal Expiration Date: 5/8/2025



Coupon Code: PRODPB10

Attention:
Tina Withorn
tina.withorn@boone.kyschools.us

Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Expiration Date: 5/8/2025

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

**HMH Confidential and Proprietary**